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. Which of the following are true?

a) The cosecant of an angle is the reciprocal of the secant of the angle

b) The cotangent of an angle is the reciprocal of the tangent of the angle.
€) The cosine value of an angle is the reciprocal of the sine of the angle.
d) tanC=tanx C

e) sin(C+ D) =sinC +sinD

f) cos(C+ D) = cosC + cosD

(i) {f.b} (i) {a,b} (i) {d.eb} (iv) {c,b} (v) {b}

. Ifsin2B = 2sinB, thenB=

(i) 90° (ii) 30° (iii) 60° (iv) 45° (v) 0°

1 _ 1
. If sin(G + H)=-2-\/3 and sin(G—H)=-2- LfindG&H
(i) G=45°,H=15° (ii) G=47°,H=17° (iii) G=43°,H=13° (iv) G=44°,H=14° (v) G=46°,H=16°

. If tan(D+ E)=v3 and tan(D— E) =v3 ,find D&E

(i) D=43°,E=13° (ii) D=46°,E=16° (iii) D=45°,E=15° (iv) D=44°,E=14° (v) D=47°,E=17°

. sin30°cos45° + cos30°sin45° =

(i) (}\/iﬁve) (ii) (}\/2+}36) (iii) (}\/2+}\/'6) (iv) (}\/'5+}\/'6) (v) (1\/'2+§)
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. In ABCD, right angled at C,if tanB =§ ,find sinBcosD + cosBsinD
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. In ACDE, right angled at D,if tanC=-5 ,find cosCcosE — sinCsinE
(i) 1\/'41 (i) O (iii) 4 V41l (iv) 1wf41 (v) > V4l
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5 41 4 41

. sin(A+B)=

(i) sinAcosB + cosAsinB (ii) cosAcosB — sinAsinB (iii) cosAcosB + sinAsinB

(iv) sinAcosB — cosAsinB



9. sin(A—-B)=

10.

11.

12.

13.

14.

15.

16.

(i) cosAcosB — sinAsinB (ii) cosAcosB + sinAsinB (iii) sinAcosB — cosAsinB

(iv) sinAcosB + cosAsinB

cos(A+B)=
(i) cosAcosB — sinAsinB (ii) sinAcosB + cosAsinB (iii) cosAcosB + sinAsinB
(iv) sinAcosB — cosAsinB
cos(A—-B) =
(i) cosAcosB + sinAsinB (ii) cosAcosB — sinAsinB (iii) sinAcosB + cosAsinB
(iv) sinAcosB — cosAsinB
tan(A + B) =

tanA — tanB tanA — tanB tanA + tanB tanA + tanB
(i) (ii) (iii) - (iv)

1 — tanAtanB 1 + tanAtanB 1 — tanAtanB 1 + tanAtanB
tan(A - B) =

tanA — tanB tanA + tanB tanA — tanB tanA + tanB
(i) (i) - (iii) - (iv)

1 + tanAtanB 1 + tanAtanB 1 — tanAtanB 1 — tanAtanB
sin120° =
(i) sin80°cos40° — cos80°sin40° (ii) cos80°cos40° + sin80°sin40° (iii) sin80°cos40° + cos80°sin40°
(iv) cos80°cos40° — sin80°sin40°
sin35° =
(i) sin70°cos35° — cos70°sin35° (ii) sin70°cos35° + cos70°sin35° (iii) cos70°cos35° + sin70°sin35°
(iv) cos70°cos35° — sin70°sin35°
cos77° =

(i) cos42°cos35° —sin42°sin35° (ii) sin42°cos35° + cos42°sin35° (iii) sin42°cos35° — cos42°sin35°

(iv) cos42°cos35° + sind42°sin35°



17.

18.

19.

20.

cos35° =

(i) sin70°cos35° + cos70°sin35° (ii) sin70°cos35° — cos70°sin35°

(iv) cos70°cos35° + sin70°sin35°

tan30° =

tan25° + tan5° tan25° — tan5° tan25° — tan5°
(i) (ii) (iii) (iv)

1 — tan25°tan5°® 1 — tan25°tan5° 1 + tan25°tan5°®
tan21° =

tan35° — tan14° tan35° + tan14° tan35° — tan14°
(i) - (ii) (iii)

1 — tan35°tan14° 1 — tan35°tan14° 1 + tan35°tan14°
Which of the following are true?

2 2
cos A —sin A

COS2A =
b)
2tanA
tan2A = >
1 +tan A
c) 2 2
Cos2A = cos A +sin A
d)
2tanA
tan2A = >
1 —-tan A
e) . .
sin2A = 2sinAcosA
) 2 2
sin2A = 2sin Acos A

(i) {f,b,e} (i) {a,d,e} (i) {c,a,d} (iv) {b,a} (v) {cd}

(iii)

tan25° + tan5°

1 + tan25°tan5®

tan35° + tan14°
(iv)
1 + tan35°tan14°

cos70°cos35° — sin70°sin35°



21.

22.

23.

24,

25.

26.

27.

Which of the following are true?

) sin32° = 2sin16°cos16°

b) 2 2
c0s32° = cos 16° —sin 16°
Q)
2tan16°
tan32° = >
1+ tan 16°
d)
2tan16°
tan32° = >
1 —tan 16°
e) . o2 2
sin32° = 2sin 16°cos 16°
f)

2 2
c0s32° = cos 16° + sin 16°
(i) {e,b} (i) {f,c,d} (ii) {c,a} (iv) {a,b,d} (v) {e,a,b}

(1 +sinB) (cosH)
Find the value of +
(cosB) (1 +sinB)

(i) 2sin® (ii) 2cosec® (iii) 2sec® (iv) 2cos6

Find the length of the side of a 4-sided regular polygon inscribed in a circle of radius 1 m

(i) 1.5142m (ii) 1.4642 m (iii)) 1.4142 m (iv) 1.3142m

Find the length of the chord of the unit circle subtending an angle of 106° at the centre

(i) 1.6472 (ii) 1.5972 (iii) 1.6972 (iv) 1.4972

Find the area of the right angled triangle with hypotenuse 7 cm and one of the acute angle being 70°

(i) 9.8737 cm (ii) 7.8737 cm (iii) 8.8737 cm (iv) 6.8737 cm

Find the area of an isosceles triangle with base 6 cm and vertical angle 58°

(i) 17.2367 cm (ii) 18.2367 cm (iii) 15.2367 cm (iv) 16.2367 cm

Q+R
IfQ,R and Sare the interior angles of a triangle, then sin( 5 ) =



28. Which of the following are true?

29.

30.

a) sin50° = cos40°
b) sin31° = cos59°
C) sin29° = cos61°
d) tan42° = cot48°
e) sec58° = cosec32°
f) cos43° = sin43°
g) sin24° = cos24°

(i) {ab,cde} (i) {fa} (i) {f.g,c} (iv) {g,b} (v) {fd.e}

Which of the following are true?

a) cot90° is not defined
b) cot0° is not defined
¢) tan0° is not defined
d)
)

e

sec90° is not defined
tan90° is not defined

f) cosec90° is not defined
g) cosec0° is not defined
h) sec0° is not defined

(i) {fhe} (i) {cd} (i) {ag,b} (iv) {bdeg} (v) {ab}

Which of the following are true?

a
) 1
cotd =
secO
b
) 1
cosecH = -
sin®
C
) 1
secb =
cosO
d
) 1
tan@ =
cot®
e
) 1
cosb =
cosecH
f
) 1
secb =
sin®

(i) {eb,c} (i) {b,cd} (ii) {fad} (iv) {a,b} (v) {ec}



31. Which of the following are true?

a) sin90° =1
b) sin45° =1
c) cos0° =1
d) sin0° =1
e) cos45° =1
f) tan90° =1
g) tan0°® =1
h) cos90° =1

(i) {g,c,a} (ii) {b,a} (i) {d,c} (iv) {efa} (v) {a,c}

32. Which of the following are true?

a) cos90° =0
b) tan90° =0
c) sin90° =0
d) tan0° =0
e) cos45° =0
f) cos0° =0
g) sin45° =0
h) sin0° =0

(i) {g.,a,d} (ii) {b,a} (i) {ef,h} (iv) {a,d,h} (v) {c.d}



Assignment Key

1) (v) 2) (v) 3) (i) 4) (iii) 5) (iii) 6) (ii)
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